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Sentence Correction Test Question for CGL Tier 2, CGL
Tier 1, IBPS Clerk Pre, IBPS PO Pre, IBPS SO Pre, SBI
Clerk Pre, SBI PO Pre & SSC 10+2

Sentence correction test Quiz 10

Directions: In the following questions, some part of the sentence is underlined.
Which of the options given below the sentence should replace the part underlined to
make the sentence grammatically correct? If the sentence is correct as it is given
then choose option E ‘No Correction required’ as the answer.

1. A preventive programme for the break out of epidemic in quake-hit
areas must be introduced.

A. A preventive programme before the break out of
B. A preventive programme for the breaking out of

C. A preventive programme for the out break of

D. A preventive programme before the out break of

E. No correction required

2. In traditional India, respect for woman is entirely contingent at
their patriarchal whims.

A. is entirely contingent on her patriarchal whims.
B. entirely is contingent at their patriarchal whims.
C. is entirely contingent to her patriarchal whim.
D. entirely is contingent to her patriarchal whims.

E. No correction required



3. My brother’s face resembles to me and people often get confused
when they see him.

A. My brother’s face resemble for me
B. My brother’s face resembles me

C. Face of my brother resembles to me
D. My brother’s face resemble to me

E. No correction required

4. Prime Minister assured the house that before signing the WTO
agreement, every aspects will be discussed thoroughly.

A. before signing WTO agreement, every aspects would be discussed thoroughly.

B. before signing the WTO agreement, every aspects will be thoroughly discussed.
C. before being signed, the WTO agreement will be discussed thoroughly.

D. before signing the WTO agreement, every aspect would be discussed thoroughly.

E. No correction required

5. India has the largest number of cattles of all other countries of the
world.

A. cattles from all the countries of the world.
B. cattles of all the countries of the world.

C. cattle of all other countries of the world.
D. cattle of all the countries of the world.

E. No correction required



6. The rail minister is arriving by Rajdhani Express which is due to
arrive to 12 PM.

A. arriving on Rajdhani Express that is due to arrive for 12 PM.
B. arriving by Rajdhani Express which is due to arrive at 12 PM.
C. arriving by Rajdhani Express is due on 12 PM.

D. arriving on Rajdhani Express is due to arrive about 12 PM.

E. No correction required

7. Polygamy is practised among muslims but women organizations
are demanding a law against this practice.

A. is practised by muslims but women’s organizations

B. is practised between muslims but women organizations
C. is practised among muslims but women organization

D. is practised by muslims but women organization

E. No correction required

8. Everyone agrees that no one besides Tendulkar could have won the
match for India.

A. no one except Tendulkar could win the match of India.

B. no one besides Tendulkar could have won the matches of India.
C. no one except Tendulkar could won the match for India.

D. no one but Tendulkar could have won the match for India.

E. No correction required



9. Since the military take over in Pakistan, the family members of
deposed the Prime Minister are confined within their houses.

A. are confined to their houses.
B. are confined in their houses.

C. is confined within their houses.
D. is confined to his houses.

E. No correction required

10. We had hardly started watching the movie than the fire brokeout.
A. to watch the movie when the fire brokeout.

B. watching the movie when the fire brokeout.

C. watching the movie then the fire brokeout.

D. to watch the movie then the fire brokeout.

E. No correction required



Correct Answers:

Explanations:

1.

Corrects the misuse of phrasal verb for noun. ‘Breakout’ is a phrasal verb meaning
‘to start or appear suddenly’ while ‘out break’ is a noun meaning ‘sudden
appearance’. A preposition or an article is used before a noun, not a verb. Use
preposition ‘before’ in place of ‘for’ because a preventive measure is taken before
the appearance of epidemic.

Hence, the option D is correct.

2.

Corrects prepositional error and error of pronoun. ‘Her’ refers to ‘woman’ (singular).
Contingent should be followed by preposition on/upon meaning dependent
on/upon.

Hence, the option A is correct.

3.

Delete preposition ‘to’ after resemble’.
Hence, the option B is correct.

4,

Corrects the error of number and tense. Adjective ‘every’ should be followed by
singular noun (aspect), while the verb ‘will’ should be ‘would’ to agree with the tense
of the verb of principal clause (assured).

Hence, the option D is correct.



5.

Corrects the error of number and comparison by means of superlative degree.
‘Cattle’ is always used as plural noun, it does take ‘s’ or ‘es’ at end. While comparing
by means of superlative, the latter term should include the former. So, delete the
use of ‘other’ because, it excludes the former term (India).

Hence, the option D is correct.

6'

Because the train is scheduled to arrive at 12 PM (‘at’ should be used to express
point of time).

Hence, the option B is correct.

7.

Corrects the error of use of preposition. Because the custom is prevalent among
muslims and it is practised by them, so use of possessive case is correct, because
voices against this practice are being raised by women’s organisations or
organisation of women.

Hence, the option A is correct.

8.

Corrects the error of preposition. ‘But’ excludes while ‘besides’ includes. ‘But’ is used
after negative no body, and none meaning ‘except’. While ‘besides’ means ‘in
addition to’.

Hence, the option D is correct.

9.

‘Confined’ is followed by preposition ‘to’.
Hence, the option A is correct.

10.

‘hardly’ is followed by ‘when’.
Hence, the option B is correct.
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